AR T A IR ) 2650 I 5E X E R E S FER R E
EBBITHAT 1E 1)) ST E N
¥ & & H
& AT # R PR OBEMNS SFf1 84 2H27HET
[EXEHaAA] H
RIS, BRI FEBFNZ BT D) OB FEEIIMNE L 72D
THE IR DR PR EEEREE TH D,
H o M 4
£ ¥ 4
[ZEHNE]
BB ERERO LB

ESIS SO I |l I AT




15

=1 N g
THA TFE, FER HANT % 4 fE Mmoo Bl W R
AN T EEPEAG IR )| S 3R E R R S R S
FAMTR A 2 = 20, 270, 000
SRS IR = 13,177, 126
[EREN i = 8, 817, 405
[ERIN == = 8, 096, 048
JH H A A S
et =y 652, 820
VEZEF M E D
WS et VERL
KA T
] e RAE TS &
HFRIFT A
] et RAE TS S
B LN
] et RAE TS S

JepEH I HE A J5




HH /LA 5 BT N
R e
EEEDIERR 7
S
e R R
B B 50ha ki
e RS R P =
ZRFDINE 50hak i
e B OMER RATHS S B S o
RS R
TEZE DR 50hak i
e A ) TRATH S e S i
AT D TR 50haA i
kg A ) P o =
R (LTS 2V
7 B} 5 2
7 et Az im
Z DAt 7

JepEH I HE A J5



3H

HH LR R HifT & %;EE
Z DA = 4,359, 721
PR A E20 7,092, 874
— R A = 7,092, 874
B X 20, 270, 000

JepEH I HE A J5




